WORK SHEET FOR CALCULATION OF WELLHEAD PRESSURE {Fc or P} FORM [-122F
FROM ENDWN BCTTOM HOLE PRESSURE {Ff or Fsi
COMPANYLOUIS DREYFUS LEASE :E.V. S5T. HMELL NO. : 2 DATE 4/1/97
CONIT SECTION : 32 TWNSHP : 22 RANBE : 2%
: L H: 11336 LiH : i b/6MIX ¢+ .5850
002 :  1.13 N2t L3 H2S
gH :+ 6631.6 PCR & a75 TCR 345
LINE 1 2 3 4 5 b 7 8
1] TW{#.H. R) ; 334 | 334 5334 334 ) 334 | 534 | 534 534
2! Ts(B.H. R) BT BT BAT.E L BAT.A L GATA L GATA D GATLE L BAT.4
3 T={TutTs/2) V390,70 §90.7 0 590.7 © 590.7 ¢ 5907 1 §90.7 §  390.7 | 590.7
L 1 (EST.) v 0.964 ) 0.878 ¢ ERR | ERR ERR ERR ¢ ERR | ERR
9 TI ' 569 | 318 ERR | ERR | ERR ERR | ERR | ERR
3 GH/TL v 11,545 12,794 ) ERR | ERR | ERR ERR ERR | ERR
7 eS{TRBLE XIV) S 1. S ) V. I ERF ERR | ERR | ERR | ERR | ERR
g ! Pf or Ps ! 3988.1 | 3988.1 ! 0! 0! 0 0 0! 0
9. Pf2 or Ps2 i 15904.9 © 15904.9 | 0.0 ) 0.0 0.0 ! 0.0 3 0.0 0.0
10 ! Pc2=Pf/eS or Pw2=Ps2/eS; 10277.3 | 9844.1 ERR | ERR | ERR ERR ERR | ERR
11 Pc or Pw ' 32056 3138 | ERR | ERR | ERR ERR | ERR | ERR
12 | P=(PwtPs/2)or(PctPf/2) | 3597 | 3563 | ERR ERR ERR ERR ERR | ERR
13 ) Pr={P/Pcr) ' 3,33 4 2,28 | ERR | ERR | ERR ERR ) ERR | ERR
14 ) Tr{T/Tcr) : 1.71 ¢ 1.71 1,74 1.71 1,71 1.71 1.7t} 1.74
15 ] I (TABLE (I} v 0.878 7 0.876 ERR | ERR | ERR ERR ERR | ERR
P
A1 3137.5 PN 2 ERR PN 3 : ERR P 4 ERR



